



www.toc.ui.ac.ir

Transactions on Combinatorics

ISSN (print): 2251-8657, ISSN (on-line): 2251-8665

Vol. 11 No. 2 (2022), pp. 63-76.

© 2021 University of Isfahan



www.ui.ac.ir

PERIPHERAL HOSOYA POLYNOMIAL OF COMPOSITE GRAPHS

ANTENEH ALEMU ALI AND KISHORI P. NARAYANKAR*

ABSTRACT. Peripheral Hosoya polynomial of a graph G is defined as,

$$PH(G, \lambda) = \sum_{k \geq 1} d_P(G, k) \lambda^k,$$

where $d_P(G, k)$ is the number of pairs of peripheral vertices at distance k in G .

Peripheral Hosoya polynomial of composite graphs viz., $G_1 \times G_2$ the Cartesian product, $G_1 + G_2$ the join, $G_1[G_2]$ the composition, $G_1 \circ G_2$ the corona and $G_1\{G_2\}$ the cluster of arbitrary connected graphs G_1 and G_2 are computed and their peripheral Wiener indices are stated as immediate consequences.

1. Introduction

Graphs considered in this paper are *simple* and *connected*. Let G be a graph with n vertices and m edges. The number of edges incident to a vertex u in graph G is called the *degree*, $deg_G(u)$ of the vertex u . The notation will be simplified to $deg(u)$ if the graph is clear from the context. The *distance*, $d_G(u, v)$ or $d(u, v)$ between vertices u and v is the length of a shortest path between u and v . The furthest distance attained by a vertex u in G is known as the *eccentricity* $e_G(u)$ or $e(u)$ of the vertex u . A vertex v is an *eccentric* vertex of a vertex u if $d(u, v) = e(u)$ and the set containing all eccentric vertices of u is known as an *eccentric set* $E_G(u)$ or $E(u)$ of u . The *diameter* $diam_G$ of G is the maximum eccentricity attained by vertices of G . The *periphery* $P(G)$ is the set of vertices of

Communicated Bijan Taeri.

MSC(2010): Primary:05C12; Secondary: 05C76.

Keywords: Peripheral Hosoya polynomial, Composite graph, Peripheral Wiener index, Hosoya polynomial, Wiener Index.

Received: 23 January 2021, Accepted: 12 October 2021.

Manuscript Type: Research Paper.

*Corresponding author.

<http://dx.doi.org/10.22108/TOC.2021.127151.1813>

maximum eccentricity. More formally,

$$P(G) = \{u \in V(G) | e(u) = \text{diam}_G\}.$$

Vertices in $P(G)$ are known as *peripheral* vertices. For basic definitions and notations we refer [?, ?].

Hosoya polynomial is the most studied polynomial which is related to many distance-based graph invariants mainly with the well known distance-based graph invariant, the Wiener index [?, ?, ?]. It is introduced by Hosoya in his seminal paper [?] in 1988 as,

$$H(G, \lambda) = \sum_{k \geq 1} d(G, k) \lambda^k,$$

where $d(G, k)$ is the number of pairs of vertices at distance k . On the same paper, Hosoya states that $H'(G, 1) = \sum_{\{u,v\} \subset V(G)} d(u, v)$, where H' is the first derivative of H , this sum is known as the Wiener index of the graph G . Motivated by this, terminal Hosoya polynomial is studied in [?], which is defined as,

$$TH(G, \lambda) = \sum_{k \geq 1} d_T(G, k) \lambda^k,$$

where $d_T(G, k)$ is the number of pairs of pendant vertices at distance k in G .

Terminal Wiener index [?] of a graph G is defined as,

$$TW(G) = \sum_{\{u,v\} \subset V_T(G)} d(u, v),$$

where V_T is set of pendant vertices of G . One can observe that $TH'(G, 1) = TW(G)$, where TH' is first derivative of TH . In analogous to terminal Hosoya polynomial Kishori P. Narayankar and D. Shubhalakshimi [?, ?] defined peripheral Hosoya polynomial of a graph G as,

$$(1.1) \quad PH(G, \lambda) = \sum_{k \geq 1} d_P(G, k) \lambda^k,$$

where $d_P(G, k)$ is the number of pairs of peripheral vertices at distance k in G . This polynomial has a direct relationship with a graph theoretical parameter *peripheral Wiener index* $PW(G)$ of G , [?] which is defined as,

$$PW(G) = \sum_{\{u,v\} \subset P(G)} d(u, v),$$

where $P(G)$ is the periphery of G . Again in analogous to H' and TH' , $PH'(G, 1) = PW(G)$, where PH' is the first derivative of PH . The study on peripheral Wiener index may be seen in [?, ?, ?, ?] and the references cited there in. Most recent results related to peripheral Hosoya polynomial of graphs are depicted in [?] and peripheral path index polynomial in [?].

In this paper, we consider graph compositions listed in definition ???. The definitions of graph compositions listed from (i) -(iii) below are taken from [?].

Definition 1.1. Let G_1 and G_2 be two graphs of order n_1 and n_2 , respectively. Define graph compositions of G_1 and G_2 as follows:

i) The Cartesian product $G_1 \times G_2$:

$$V(G_1 \times G_2) = V(G_1) \times V(G_2)$$

for vertices $a = (u_1, v_1), b = (u_2, v_2) \in V(G_1 \times G_2)$,

$$ab \in E(G_1 \times G_2) \text{ iff } \left([u_1 = u_2 \text{ and } v_1v_2 \in E(G_2)] \text{ or } [v_1 = v_2 \text{ and } u_1u_2 \in E(G_1)] \right)$$

ii) The join $G_1 + G_2$:

$$V(G_1 + G_2) = V(G_1) \cup V(G_2)$$

$$E(G_1 + G_2) = E(G_1) \cup E(G_2) \cup \{uv | u \in V(G_1) \text{ and } v \in V(G_2)\}$$

iii) The composition $G_1[G_2]$:

$$V(G_1[G_2]) = V(G_1) \times V(G_2)$$

for vertices $a = (u_1, v_1), b = (u_2, v_2) \in V(G_1 \times G_2)$,

$$ab \in E(G_1[G_2]) \text{ iff } \left([u_1 = u_2 \text{ and } v_1v_2 \in E(G_2)] \text{ or } [u_1u_2 \in E(G_1)] \right)$$

iv) The corona product [?] $G_1 \circ G_2$:

The graph obtained by taking one copy of G_1 , called the center graph, n_1 copies of G_2 , called the outer graph, and making the i^{th} vertex of G_1 adjacent to every vertex of the i^{th} copy of G_2 , where $1 \leq i \leq n_1$.

v) The cluster [?, ?] $G_1\{G_2\}$ is obtained by taking one copy of G_1 and n_1 copies of G_2 of a rooted graph G_2 , and by identifying the root of the i^{th} copy of G_2 with the i^{th} vertex of G_1 , $i = 1, 2, \dots, n_1$.

Yeh and Gutman [?] computed the Wiener index of these composite graphs. Motivated by this, Dragan Stevanović [?], computed their Hosoya polynomial.

In the following section, the peripheral Hosoya polynomial of composite graphs defined in definition ?? are computed and their peripheral Wiener indices are stated as immediate consequences.

2. Results

Lemma 2.1. [?, ?] Let G_1 and G_2 be graphs with vertex sets $V(G_1) = \{u_1, u_2, \dots, u_{n_1}\}$ and $V(G_2) = \{v_1, v_2, \dots, v_{n_2}\}$, respectively. Then,

i) for $a = (u_i, v_j), b = (u_r, v_s) \in V(G_1 \times G_2)$,

$$(2.1) \quad d_{G_1 \times G_2}(a, b) = d_{G_1}(u_i, u_r) + d_{G_2}(v_j, v_s)$$

ii) for $a, b \in V(G_1\{G_2\})$

$$(2.2) \quad d_{G_1\{G_2\}}(a, b) = \begin{cases} d_{G_2}(a, b), & a, b \in G_2^{(i)} \\ d_{G_2}(a, v) + d_{G_1}(a, b) + d_{G_2}(v, b), & a \in G_2^{(i)} \text{ and } b \in G_2^{(j)}, i \neq j \end{cases}$$

where v is the root of G_2 and $G_2^{(i)}$ is a subgraph of $G_1\{G_2\}$ corresponding to the i^{th} copy of G_2 .

Also note that:

$$(2.3) \quad d_{G_1+G_2}(a, b) = \begin{cases} 1, & ab \in E(G_1) \cup E(G_2) \text{ or } (a \in V(G_1) \text{ and } b \in V(G_2)) \\ 2, & \text{otherwise} \end{cases}$$

i) for $a = (u_i, v_j), b = (u_r, v_s) \in V(G_1[G_2]),$

$$(2.4) \quad d_{G_1[G_2]}(a, b) = \begin{cases} 0, & u_i = u_r \text{ and } v_j = v_s \\ 1, & u_i = u_r \text{ and } v_j v_s \in E(G_2) \\ 2, & u_i = u_r \text{ and } v_j v_s \notin E(G_2) \\ d_{G_1}(u_i, u_r), & u_i \neq u_r \end{cases}$$

ii) for $u, v \in V(G_1 \circ G_2),$

$$(2.5) \quad d_{G_1 \circ G_2}(a, b) = \begin{cases} 1, & ab \in E(G_1) \cup \left(\bigcup_{i=1}^{k_1} E(G_2^{(i)}) \right) \cup X \\ 2, & u, v \in V(G_2^{(i)}) \text{ and } uv \notin E(G_2^{(i)}) \\ d_{G_1}(u, v), & u, v \in V(G_1) \\ d_{G_1}(u_i, u_j) + 2, & u \in V(G_2^{(i)}) \text{ and } v \in V(G_2^{(j)}), i \neq j \end{cases}$$

where $G_2^{(i)}$ is the subgraph of $G_1 \circ G_2$ corresponding to the i^{th} copy of G_2 in $G_1 \circ G_2$ and $X = \{ \{a, b\} \subset V(G_1 \circ G_2) : [a = u_i \text{ and } b \in V(G_2^{(i)})] \text{ or } [a \in V(G_2^{(i)}) \text{ and } b = u_i], 1 \leq i \leq n_1 \}$

Lemma 2.2. For the complete graph K_n of order $n,$ $PH(K_n, \lambda) = \binom{n}{2} \lambda.$

From now on, we shortly write $PH(G)$ instead of $PH(G, \lambda).$

Theorem 2.3. Let G_1 and G_2 be graphs with k_1 and k_2 peripheral vertices, respectively. Then,

$$PH(G_1 \times G_2) = 2PH(G_1)PH(G_2) + k_2PH(G_1) + k_1PH(G_2).$$

Proof. Let $P(G_1) = \{u_1, u_2, \dots, u_{k_1}\}$ and $P(G_2) = \{v_1, v_2, \dots, v_{k_2}\}$ be peripheries of graphs G_1 and $G_2,$ respectively. Then, by equation ??,

$$diam_{G_1 \times G_2} = diam_{G_1} + diam_{G_2} \text{ and } P(G_1 \times G_2) = P(G_1) \times P(G_2).$$

$$\begin{aligned} PH(G_1 \times G_2) &= \sum_{\{a,b\} \subset P(G_1 \times G_2)} \lambda^{d_{G_1 \times G_2}(a,b)} \\ &= \frac{1}{2} \sum_{a \in P(G_1 \times G_2)} \sum_{\substack{b \in P(G_1 \times G_2) \\ b \neq a}} \lambda^{d_{G_1 \times G_2}(a,b)} \\ PH(G_1 \times G_2) &= \frac{1}{2} \sum_{a \in P(G_1 \times G_2)} \left[\sum_{b \in P(G_1 \times G_2)} \lambda^{d_{G_1 \times G_2}(a,b)} - 1 \right]. \end{aligned}$$

By equation ??,

$$\begin{aligned}
 PH(G_1 \times G_2) &= \frac{1}{2} \sum_{1 \leq i, j \leq k_1} \left[\sum_{1 \leq r, s \leq k_2} \lambda^{a_{ir}} \lambda^{b_{js}} - 1 \right], & \text{where, } a_{ir} = d_{G_1}(u_i, u_r) \text{ and} \\
 & & b_{js} = d_{G_1}(v_j, v_s) \\
 &= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{j=1}^{k_2} \sum_{r=1}^{k_1} \sum_{s=1}^{k_2} \lambda^{a_{ir}} \lambda^{b_{js}} - \frac{1}{2} \sum_{i=1}^{k_1} \sum_{j=1}^{k_2} 1 \\
 PH(G_1 \times G_2) &= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{r=1}^{k_1} \left(\lambda^{a_{ir}} \sum_{j=1}^{k_2} \sum_{s=1}^{k_2} \lambda^{b_{js}} \right) - \frac{1}{2} k_1 k_2.
 \end{aligned}$$

$$\begin{aligned}
 \text{But, } PH(G_2) &= \sum_{1 \leq j < s \leq k_2} \lambda^{d_{G_2}(v_j, v_s)} = \frac{1}{2} \sum_{j=1}^{k_2} \sum_{s=1}^{k_2} \lambda^{d_{G_2}(v_j, v_s)} - \frac{1}{2} k_2 \\
 \implies 2PH(G_2) + k_2 &= \sum_{j=1}^{k_2} \sum_{s=1}^{k_2} \lambda^{d_{G_2}(v_j, v_s)}.
 \end{aligned}$$

Thus,

$$\begin{aligned}
 PH(G_1 \times G_2) &= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{r=1}^{k_1} \left(\lambda^{a_{ir}} (2PH(G_2) + k_2) \right) - \frac{1}{2} k_1 k_2 \\
 &= \frac{1}{2} (2PH(G_1) + k_1)(2PH(G_2) + k_2) - \frac{1}{2} k_1 k_2 \\
 PH(G_1 \times G_2) &= 2PH(G_1)PH(G_2) + k_2PH(G_1) + k_1PH(G_2).
 \end{aligned}$$

□

Corollary 2.4. Let G_1 and G_2 be graphs with k_1 and k_2 peripheral vertices, respectively. Then,

$$PW(G_1 \times G_2) = k_2^2 PW(G_1) + k_1^2 PW(G_2).$$

Theorem 2.5. Let G_1 and G_2 be (n_1, m_1) and (n_2, m_2) graphs, respectively.

i) If $G_1 \cong K_{n_1}$ and $G_2 \cong K_{n_2}$ then,

$$PH(G_1 + G_2) = \binom{n_1 + n_2}{2} \lambda.$$

ii) If $G_1 \not\cong K_{n_1}$ or $G_2 \not\cong K_{n_2}$ then,

$$\begin{aligned}
 PH(G_1 + G_2) &= \left[m_1 + m_2 - \binom{n_1 + n_2}{2} + \binom{l_1 + l_2}{2} + n_1 n_2 \right] \lambda \\
 &+ \left[\binom{n_1 + n_2}{2} - (n_1 n_2 + m_1 + m_2) \right] \lambda^2,
 \end{aligned}$$

where l_1 and l_2 are cardinalities of sets $S_1 = \{u \in V(G_1) | \text{deg}_{G_1}(u) < n_1 - 1\}$ and $S_2 = \{v \in V(G_2) | \text{deg}_{G_2}(v) < n_2 - 1\}$, respectively.

Proof. Let $l_1 = |S_1|$ and $l_2 = |S_2|$, then $0 \leq l_1 \leq n_1$ and $0 \leq l_2 \leq n_2$. The periphery of $G_1 + G_2$ depends on l_1 and l_2 .

Case 1: If $l_1 = l_2 = 0$ (or $G_1 \cong K_{n_1}$ and $G_2 \cong K_{n_2}$) then $G_1 + G_2 \cong K_{n_1+n_2}$.

By lemma ??,

$$PH(G_1 + G_2) = PH(K_{n_1+n_2}) = \binom{n_1 + n_2}{2} \lambda.$$

Case 2: If $l_1 \neq 0$ or $l_2 \neq 0$ (or $[G_1 \not\cong K_{n_1}$ or $G_2 \not\cong K_{n_2}]$) then $P(G_1 + G_2) = S_1 \cup S_2$.

Short notation: $P_{G_1+G_2} = P(G_1 + G_2)$ and $d_{G_1+G_2}(u, v) = d_{G_1}(u, v) + d_{G_2}(u, v)$.

$$\begin{aligned} PH(G_1 + G_2) &= \sum_{\{u,v\} \subset P_{G_1+G_2}} \lambda^{d_{G_1+G_2}(u,v)} \\ &= \sum_{\{u,v\} \subset S_1} \lambda^{d_{G_1+G_2}(u,v)} + \sum_{\{u,v\} \subset S_2} \lambda^{d_{G_1+G_2}(u,v)} + \sum_{(u,v) \in S_1 \times S_2} \lambda^{d_{G_1+G_2}(u,v)} \\ &= [m_1 - \binom{n_1 - l_1}{2} - l_1(n_1 - l_1)] \lambda + \left(\binom{n_1}{2} - m_1 \right) \lambda^2 \\ &\quad + [m_2 - \binom{n_2 - l_2}{2} - l_2(n_2 - l_2)] \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 + l_1 l_2 \lambda \\ &= [m_1 - \binom{n_1 - l_1}{2} - l_1 n_1 + \frac{l_1(l_1 + 1)}{2} + \frac{l_1(l_1 - 1)}{2}] \lambda + \left(\binom{n_1}{2} - m_1 \right) \lambda^2 \\ &\quad + [m_2 - \binom{n_2 - l_2}{2} - l_2 n_2 + \frac{l_2(l_2 + 1)}{2} + \frac{l_2(l_2 - 1)}{2} + l_1 l_2] \lambda \\ &\quad + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \\ &= [m_1 - \binom{n_1}{2} + \binom{l_1}{2}] \lambda + \left(\binom{n_1}{2} - m_1 \right) \lambda^2 \\ &\quad + [m_2 - \binom{n_2}{2} + \binom{l_2}{2} + l_1 l_2] \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \\ PH(G_1 + G_2) &= [m_1 + m_2 - \binom{n_1 + n_2}{2} + \binom{l_1 + l_2}{2} + n_1 n_2] \lambda \\ &\quad + \left[\binom{n_1 + n_2}{2} - (n_1 n_2 + m_1 + m_2) \right] \lambda^2 \end{aligned}$$

□

Corollary 2.6. Let G_1 and G_2 be (n_1, m_1) and (n_2, m_2) graphs, respectively.

i) If $\text{diam}_{G_1} = \text{diam}_{G_2} = 1$ then,

$$PW(G_1 + G_2) = \binom{n_1 + n_2}{2} \lambda.$$

ii) If $G_1 \not\cong K_{n_1}$ or $G_2 \not\cong K_{n_2}$ then,

$$PW(G_1 + G_2) = \binom{n_1 + n_2}{2} + \binom{l_1 + l_2}{2} - (m_1 + m_2 + n_1 n_2)$$

Theorem 2.7. Let G_1 and G_2 be (n_1, m_1) and (n_2, m_2) graphs, respectively, and k_1 the number of peripheral vertices of G_1 , l_2 the cardinality of the set $S_2 = \{v \in V(G_2) | \deg_{G_2}(v) < n_2 - 1\}$.

i) If $\text{diam}_{G_1} = \text{diam}_{G_2} = 1$ then,

$$PH(G_1[G_2]) = \binom{n_1 n_2}{2}$$

ii) If $\text{diam}_{G_1} = 1$ and $\text{diam}_{G_2} > 1$ then,

$$PH(G_1[G_2]) = n_1 \left[(m_2 - \binom{n_2}{2} + \binom{l_2}{2}) \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] + l_2^2 \binom{n_1}{2} \lambda$$

iii) If $\text{diam}_{G_1} = 2$ and $\text{diam}_{G_2} > 1$ then,

$$PH(G_1[G_2]) = n_2^2 PH(G_1) + \left[n_1 m_2 - (n_1 - k_1) \left(\binom{n_2}{2} - \binom{l_2}{2} - k_1 l_2 n_2 \right) + l_2^2 \binom{n_1 - k_1}{2} \right] \lambda + n_1 \left[\binom{n_2}{2} - m_2 \right] \lambda^2$$

iv) If $\text{diam}_{G_1} > 2$ or $[\text{diam}_{G_1} = 2 \text{ and } \text{diam}_{G_2} > 1]$ then,

$$PH(G_1[G_2]) = k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] + n_2^2 PH(G_1)$$

Proof. Let the vertex sets of graphs G_1 and G_2 are labeled as,

$$V(G_1) = \{u_1, u_2, \dots, u_{k_1}, u_{k_1+1}, \dots, u_{n_1}\} \text{ and } V(G_2) = \{v_1, v_2, \dots, v_{k_2}, v_{k_2+1}, \dots, v_{n_2}\},$$

respectively, where $\{u_1, u_2, \dots, u_{k_1}\} = P(G_1)$ and $\{v_1, v_2, \dots, v_{k_2}\} = P(G_2)$.

By equation ??, the periphery of $G_1[G_2]$ depends on the diameter of G_1 , d_{G_1} .

Case 1: If $\text{diam}_{G_1} = \text{diam}_{G_2} = 1$ then $G_1[G_2] = K_{n_1 n_2}$.

$$PH(G_1[G_2]) = PH(K_{n_1 n_2}) = H(K_{n_1 n_2}) = \binom{n_1 n_2}{2}, \quad \text{by lemma ??}.$$

Case 2: If $\text{diam}_{G_1} = 1$ and $\text{diam}_{G_2} > 1$ then,

$$P(G_1[G_2]) = V(G_1) \times S_2 \text{ and } d_{G_1[G_2]} = 2$$

$$\begin{aligned}
 PH(G_1[G_2]) &= \sum_{\{a,b\} \subset P_{G_1[G_2]}} \lambda^{d_{G_1[G_2]}(a,b)} \\
 &= \frac{1}{2} \sum_{a \in P_{G_1[G_2]}} \sum_{b \in P_{G_1[G_2]}} \lambda^{d_{G_1[G_2]}(a,b)} - \frac{1}{2} \sum_{a \in P_{G_1[G_2]}} \lambda^{d_{G_1[G_2]}(a,a)} \\
 &= \frac{1}{2} \sum_{i=1}^{n_1} \sum_{j=1}^{l_2} \sum_{r=1}^{n_1} \sum_{s=1}^{l_2} \lambda^{d_{G_1[G_2]}(a_{ij},b_{rs})} - \frac{1}{2} n_1 l_2,
 \end{aligned}$$

where $a_{ij} = (u_i, v_j)$ and $b_{rs} = (u_r, v_s)$

$$\begin{aligned}
 PH(G_1[G_2]) &= \frac{1}{2} \sum_{i=1}^{n_1} \sum_{j=1}^{l_2} \left[\sum_{b_{rs} \in X_{ij}^{(1)}} \lambda^{d_{G_1[G_2]}(a_{ij},b_{rs})} + \sum_{b_{rs} \in X_{ij}^{(2)}} \lambda^{d_{G_1[G_2]}(a_{ij},b_{rs})} \right. \\
 &\quad \left. + \sum_{b_{rs} \in X_{ij}^{(3)}} \lambda^{d_{G_1[G_2]}(a_{ij},b_{rs})} + \sum_{b_{rs} \in X_{ij}^{(4)}} \lambda^{d_{G_1[G_2]}(a_{ij},b_{rs})} \right] - \frac{1}{2} n_1 l_2
 \end{aligned}$$

where, $X_{ij}^{(1)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j v_s \in E(G_2)\}$,
 $X_{ij}^{(2)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j v_s \notin E(G_2)\}$,
 $X_{ij}^{(3)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j = v_s\}$ and
 $X_{ij}^{(4)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r \neq u_i\}$.

$$\begin{aligned}
 PH(G_1[G_2]) &= \frac{1}{2} \sum_{i=1}^{n_1} \sum_{j=1}^{l_2} \left[[deg_{G_2}(v_j) - (n_2 - l_2)]\lambda + [n_2 - 1 - deg_{G_2}(v_j)]\lambda^2 + 1 \right] \\
 &\quad + \frac{1}{2} \sum_{i=1}^{n_1} \sum_{j=1}^{l_2} \sum_{\substack{r=1 \\ r \neq i}}^{n_1} \sum_{s=1}^{l_2} \lambda^{d_{G_1}(u_i, u_r)} - \frac{1}{2} n_1 l_2 \\
 &= \frac{1}{2} \sum_{i=1}^{n_1} \left[(2m_2 - (n_2 - l_2)(n_2 - 1) - l_2(n_2 - l_2))\lambda \right. \\
 &\quad \left. + (l_2(n_2 - 1) - 2m_2 + (n_2 - l_2)(n_2 - 1))\lambda^2 + l_2 \right] + \frac{l_2^2}{2} \sum_{i=1}^{n_1} \sum_{\substack{r=1 \\ r \neq i}}^{n_1} \lambda - \frac{1}{2} n_1 l_2 \\
 PH(G_1[G_2]) &= n_1 \left[(m_2 - \binom{n_2}{2} + \binom{l_2}{2})\lambda + \left(\binom{n_2}{2} - m_2 \right)\lambda^2 \right] + l_2^2 \binom{n_1}{2} \lambda
 \end{aligned}$$

Case 3: If $diam_{G_1} = 2$ and $G_2 \not\cong K_{n_2}$ then,

$P(G_1[G_2]) = C_1 \cup C_2$ and $d_{G_1[G_2]} = d_{G_1} = 2$, where, $C_1 = P(G_1) \times V(G_2)$ and $C_2 = \{(u_i, v_j) \in V(G_1) \times V(G_2) | u_i \notin P(G_1) \text{ and } deg_{G_2}(v_j) < n_2 - 1\}$

$$\begin{aligned}
 PH(G_1[G_2]) &= \sum_{\{a,b\} \subset P(G_1[G_2])} \lambda^{d_{G_1[G_2]}(a,b)} \\
 &= \sum_{\{a,b\} \subset C_1} \lambda^{d_{G_1[G_2]}(a,b)} + \sum_{\{a,b\} \subset C_2} \lambda^{d_{G_1[G_2]}(a,b)} + \sum_{\{a,b\} \subset C_1 \times C_2} \lambda^{d_{G_1[G_2]}(a,b)}
 \end{aligned}$$

$$\sum_{\{a,b\} \subset C_1} \lambda^{d_{G_1[G_2]}(a,b)} = k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] + n_2^2 PH(G_1)$$

$$\begin{aligned}
 \sum_{\{a,b\} \subset C_2} \lambda^{d_{G_1[G_2]}(a,b)} &= \frac{1}{2} \sum_{a \in C_2} \sum_{b \in C_2} \lambda^{d_{G_1[G_2]}(a,b)} - \frac{1}{2} \sum_{a \in C_2} \lambda^{d_{G_1[G_2]}(a,a)} \\
 &= \frac{1}{2} \sum_{a_{ij} \in C_2} \sum_{b_{rs} \in C_2} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} - \frac{1}{2} \sum_{a \in C_2} 1,
 \end{aligned}$$

where, $a_{ij} = (u_i, v_j)$ and $b_{rs} = (u_r, v_s)$

$$\begin{aligned}
 \sum_{\{a,b\} \subset C_2} \lambda^{d_{G_1[G_2]}(a,b)} &= \frac{1}{2} \sum_{a_{ij} \in C_2} \left[\sum_{b_{rs} \in X_{ij}^{(1)}} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} + \sum_{b_{rs} \in X_{ij}^{(2)}} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} \right. \\
 &\quad \left. + \sum_{b_{rs} \in X_{ij}^{(3)}} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} + \sum_{b_{rs} \in X_{ij}^{(4)}} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} \right] - \frac{1}{2} (n_1 - k_1) l_2,
 \end{aligned}$$

where, $X_{ij}^{(1)} = \{(u_r, u_s) \in C_2 | u_r = u_i \text{ and } v_j v_s \in E(G_2)\}$,

$X_{ij}^{(2)} = \{(u_r, u_s) \in C_2 | u_r = u_i \text{ and } v_j v_s \notin E(G_2)\}$,

$X_{ij}^{(3)} = \{(u_r, u_s) \in C_3 | u_r = u_i \text{ and } v_j = v_s\}$ and

$X_{ij}^{(4)} = \{(u_r, u_s) \in C_4 | u_r \neq u_i\}$.

$$\begin{aligned}
 \sum_{\{a,b\} \subset C_2} \lambda^{d_{G_1[G_2]}(a,b)} &= \frac{1}{2} \sum_{a_{ij} \in C_2} \left[\sum_{b_{rs} \in X_{ij}^{(1)}} \lambda + \sum_{b_{rs} \in X_{ij}^{(2)}} \lambda^2 + 1 + \sum_{b_{rs} \in X_{ij}^{(4)}} \lambda^{d_{G_1[G_2]}(a_{ij}, b_{rs})} \right] \\
 &\quad - \frac{1}{2} (n_1 - k_1) l_2 \\
 &= \frac{1}{2} \sum_{i=k_1+1}^{n_1} \sum_{j=1}^{l_2} \left[[deg_{G_2}(v_j) - (n_2 - l_2)] \lambda + [n_2 - 1 - deg_{G_2}] \lambda^2 + 1 \right] \\
 &\quad + \frac{l_2^2}{2} \sum_{i=k_1+1}^{n_1} \sum_{\substack{r=k_1+1 \\ r \neq i}}^{n_1} \lambda^{d_{G_1}(a_{ij}, b_{rs})} - \frac{1}{2} (n_1 - k_1) l_2 \\
 &= \frac{1}{2} \sum_{i=k_1+1}^{n_1} \left[[2m - (n_2 - l_2)(n_2 - 1) - l_2(n_2 - l_2)] \lambda + [l_2(n_2 - 1) - 2m_2 \right. \\
 &\quad \left. + (n_2 - l_2)(n_2 - 1)] \lambda^2 + l_2 \right] + \frac{l_2^2}{2} \sum_{i=k_1+1}^{n_1} \sum_{\substack{r=k_1+1 \\ r \neq i}}^{n_1} \lambda - \frac{1}{2} (n_1 - k_1) l_2
 \end{aligned}$$

$$\sum_{\{a,b\} \subset C_2} \lambda^{d_{G_1[G_2]}(a,b)} = \left[(n_1 - k_1) \left(m_2 - \binom{n_2}{2} + \binom{l_2}{2} \right) + l_2^2 \binom{n_1 - k_1}{2} \right] \lambda \\ + (n_1 - k_1) \left[\binom{n_2}{2} - m_2 \right] \lambda^2$$

$$\sum_{\{a,b\} \subset C_1 \times C_2} \lambda^{d_{G_1[G_2]}(a,b)} = \sum_{a \in C_1} \sum_{b \in C_2} \lambda^{d_{G_1[G_2]}(a,b)} = \sum_{(u_i, v_j) \in C_1} \sum_{(u_r, u_s) \in C_2} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, u_s))} \\ = \sum_{i=1}^{k_1} \sum_{j=1}^{n_2} \sum_{r=k_1+1}^{n_1} \sum_{s=1}^{l_2} \lambda^{d_{G_1[G_2]}(u_i, u_r)} = l_2 n_2 \sum_{i=1}^{k_1} \sum_{r=k_1+1}^{n_1} \lambda^{d_{G_1[G_2]}(u_i, u_r)} \\ = l_2 n_2 \sum_{i=1}^{k_1} \sum_{r=k_1+1}^{n_1} \lambda, \quad \because u_r \notin P(G_1) \text{ and } \text{diam}_{G_1} = 2$$

$$\sum_{\{a,b\} \subset C_1 \times C_2} \lambda^{d_{G_1[G_2]}(a,b)} = l_2 n_2 k_1 (n_1 - k_1) \lambda$$

$$PH(G_1[G_2]) = k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] + n_2^2 PH(G_1) + \left[(n_1 - k_1) \left(m_2 - \binom{n_2}{2} \right) \right. \\ \left. + \binom{l_2}{2} \right] \lambda + (n_1 - k_1) \left[\binom{n_2}{2} - m_2 \right] \lambda^2 \\ + (n_1 - k_1) k_1 l_2 n_2 \lambda$$

$$PH(G_1[G_2]) = n_2^2 PH(G_1) + \left[n_1 m_2 - (n_1 - k_1) \left(\binom{n_2}{2} - \binom{l_2}{2} - k_1 l_2 n_2 \right) \right. \\ \left. + l_2^2 \binom{n_1 - k_1}{2} \right] \lambda + n_1 \left[\binom{n_2}{2} - m_2 \right] \lambda^2$$

Case 4: If $\text{diam}_{G_1} > 2$ or $[\text{diam}_{G_1} = 2 \text{ and } \text{diam}_{G_2} > 1]$ then,

By equation ??, $P(G_1[G_2]) = P(G_1) \times V(G_2)$ and $\text{diam}_{G_1[G_2]} = \text{diam}_{G_1}$.

$$PH(G_1[G_2]) = \frac{1}{2} \sum_{a \in P_{G_1[G_2]}} \sum_{\substack{b \in P_{G_1[G_2]} \\ b \neq a}} \lambda^{d_{G_1[G_2]}(a,b)} \\ = \frac{1}{2} \sum_{(u_i, v_j) \in P_{G_1[G_2]}} \left[\sum_{(u_r, u_s) \in P_{G_1[G_2]}} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, u_s))} - 1 \right] \\ PH(G_1[G_2]) = \frac{1}{2} \sum_{(u_i, v_j) \in P_{G_1[G_2]}} \left[\sum_{X_{ij}^{(1)}} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, v_s))} + \sum_{X_{ij}^{(2)}} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, v_s))} \right. \\ \left. + \sum_{X_{ij}^{(3)}} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, v_s))} + \sum_{X_{ij}^{(4)}} \lambda^{d_{G_1[G_2]}((u_i, v_j), (u_r, v_s))} \right] - \frac{1}{2} \sum_{(u_i, v_j) \in P_{G_1[G_2]}} 1,$$

where $X_{ij}^{(1)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j v_s \in E(G_2)\}$
 $X_{ij}^{(2)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j v_s \notin E(G_2)\}$
 $X_{ij}^{(3)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r = u_i \text{ and } v_j = v_s\}$
 $X_{ij}^{(4)} = \{(u_r, u_s) \in P_{G_1[G_2]} | u_r \neq u_i\}$.

$$PH(G_1[G_2]) = \frac{1}{2} \sum_{(u_i, v_j) \in P_{G_1[G_2]}} \left[\sum_{X_{ij}^{(1)}} \lambda + \sum_{X_{ij}^{(2)}} \lambda^2 + 1 + \sum_{X_{ij}^{(3)}} \lambda^{d_{G_1}(u_i, u_r)} \right] - \frac{1}{2} k_1 n_2$$

$$= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{j=1}^{n_2} \left[\text{deg}_{G_2}(v_j) \lambda + (n_2 - 1 - \text{deg}_{G_2}(v_j)) \lambda^2 + 1 + \sum_{\substack{r=1 \\ r \neq i}}^{k_1} \sum_{s=1}^{n_2} \lambda^{d_{G_1}(u_i, u_r)} \right]$$

$$- \frac{1}{2} k_1 n_2$$

$$= \frac{1}{2} k_1 \left[2m_2 \lambda + (n_2(n_2 - 1) - 2m_2) \lambda^2 + 1 \right] + \frac{1}{2} n_2^2 \sum_{i=1}^{k_1} \sum_{\substack{r=1 \\ r \neq i}}^{k_1} \lambda^{d_{G_1}(u_i, u_r)} - \frac{1}{2} k_1 n_2$$

$$PH(G_1[G_2]) = k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] + n_2^2 PH(G_1)$$

□

Theorem 2.8. Let G_1 be a non-trivial graph with k_1 peripheral vertices and G_2 be graph of order n_2 and size m_2 . Then,

$$PH(G_1 \circ G_2) = n_2^2 PH(G_1) \lambda^2 + k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right]$$

Proof. Let $P(G_1) = \{u_1, u_2, \dots, u_{k_1}\}$. Since G_1 is non-trivial graph,

$$P(G_1 \circ G_2) = \bigcup_{i=1}^{k_1} V(G_2^{(i)}) \text{ and } \text{diam}_{G_1 \circ G_2} = \text{diam}_{G_1} + 2.$$

$$\begin{aligned}
PH(G_1 \circ G_2) &= \frac{1}{2} \sum_{a \in P_{G_1 \circ G_2}} \sum_{\substack{b \in P_{G_1 \circ G_2} \\ b \neq a}} \lambda^{d_{G_1 \circ G_2}(a,b)} = \frac{1}{2} \sum_{a \in P_{G_1 \circ G_2}} \sum_{b \in P_{G_1 \circ G_2}} \lambda^{d_{G_1 \circ G_2}(a,b)} \\
&\quad - \frac{1}{2} \sum_{a \in P_{G_1 \circ G_2}} \lambda^{d_{G_1 \circ G_2}(a,a)} \\
&= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{a \in V(G_2^{(i)})} \sum_{j=1}^{k_1} \sum_{b \in V(G_2^{(j)})} \lambda^{d_{G_1 \circ G_2}(a,b)} - \frac{1}{2} k_1 n_2 \\
&= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{a \in V(G_2^{(i)})} \left[\sum_{\substack{j=1 \\ j \neq i}}^{k_1} \sum_{b \in V(G_2^{(j)})} \lambda^{d_{G_1 \circ G_2}(a,b)} + \sum_{b \in V(G_2^{(i)})} \lambda^{d_{G_1 \circ G_2}(a,b)} \right] - \frac{1}{2} k_1 n_2 \\
&= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} \sum_{a \in V(G_2^{(i)})} \sum_{b \in V(G_2^{(j)})} \lambda^{d_{G_1 \circ G_2}(a,b)} + \frac{1}{2} \sum_{i=1}^{k_1} \sum_{a \in V(G_2^{(i)})} \sum_{b \in V(G_2^{(i)})} \lambda^{d_{G_1 \circ G_2}(a,b)} \\
&\quad - \frac{1}{2} k_1 n_2 \\
&= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} \sum_{a \in V(G_2^{(i)})} \sum_{b \in V(G_2^{(j)})} \lambda^{d_{G_1}(u_i, u_j) + 2} + \sum_{i=1}^{k_1} \left[\sum_{ab \in E(G_2^{(i)})} \lambda^{d_{G_1 \circ G_2}(a,b)} \right. \\
&\quad \left. + \sum_{ab \notin E(G_2^{(i)})} \lambda^{d_{G_1 \circ G_2}(a,b)} \right] + \frac{1}{2} \sum_{i=1}^{k_1} \sum_{a \in V(G_2^{(i)})} \lambda^{d_{G_1 \circ G_2}(a,a)} - \frac{1}{2} k_1 n_2 \\
&= \frac{1}{2} \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} (n_2^2 \lambda^{d_{G_1}(u_i, u_j)} \lambda^2) + \sum_{i=1}^{k_1} \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right] \\
PH(G_1 \circ G_2) &= n_2^2 PH(G_1) \lambda^2 + k_1 \left[m_2 \lambda + \left(\binom{n_2}{2} - m_2 \right) \lambda^2 \right]
\end{aligned}$$

□

Corollary 2.9. Let G_1 be a non-trivial graph with k_1 peripheral vertices and G_2 be graph of order n_2 and size m_2 . Then,

$$PW(G_1 \circ G_2) = n_2^2 (PW(G_1) + k_1^2) - k_1 (n_2 + m_2)$$

Theorem 2.10. Let G_1 be a graph with k_1 number of peripheral vertices and G_2 be a rooted graph with root v . Then,

$$PH(G_1 \{G_2\}) = k_1 PH_0(v, G_2) + |E(v)|^2 PH(G_1) \lambda^{2e(v)}$$

where $PH_0(v, G_2) = \sum_{\{a,b\} \subset E(v)} \lambda^{d_{G_2}(a,b)}$.

Proof. Let $P(G_1) = \{u_1, u_2, \dots, u_{k_1}\}$ and v be the root of the rooted graph G_2 . For $a, b \in V(G_1\{G_2\})$,

$$d_{G_1\{G_2\}}(a, b) = \begin{cases} d_{G_2}(a, b), & a, b \in G_2^{(i)} \\ d_{G_2}(a, v) + d_{G_1}(a, b) + d_{G_2}(v, b), & a \in G_2^{(i)} \text{ and } b \in G_2^{(j)}, i \neq j \end{cases}$$

where $G_2^{(i)}$ is a subgraph of $G_1\{G_2\}$ corresponding to the i^{th} copy of G_2 .

Then,

$$P(G_1\{G_2\}) = \bigcup_{i=1}^{k_1} E^{(i)}(v) \text{ and } diam_{G_1\{G_2\}} = diam_{G_1} + 2e(v),$$

where $E^{(i)}(v)$ is a subset of $V(G_1\{G_2\})$ corresponding to $E(v)$ in the i^{th} copy of G_2 .

$$\begin{aligned} PH(G_1\{G_2\}) &= \sum_{\{a,b\} \subset P_{G_1\{G_2\}}} \lambda^{d_{G_1\{G_2\}}(a,b)} \\ &= \sum_{\{a,b\} \in X_1} \lambda^{d_{G_1\{G_2\}}(a,b)} + \sum_{\{a,b\} \in X_2} \lambda^{d_{G_1\{G_2\}}(a,b)} \end{aligned}$$

where $X_1 = \{\{a, b\} \subset P_{G_1\{G_2\}} \mid a, b \in E^{(i)}(v), 1 \leq i \leq k_1\}$ and

$$X_2 = \{\{a, b\} \subset P_{G_1\{G_2\}} \mid (a, b) \in E^{(i)}(v) \times E^{(j)}(v), 1 \leq i, j \leq k_1, i \neq j\}$$

$$\begin{aligned} PH(G_1\{G_2\}) &= \sum_{i=1}^{k_1} \sum_{\{a,b\} \subset E^{(i)}(v)} \lambda^{d_{G_1\{G_2\}}(a,b)} + \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} \sum_{(a,b) \in E^{(i)}(v) \times E^{(j)}(v)} \lambda^{d_{G_1\{G_2\}}(a,b)} \\ &= \sum_{i=1}^{k_1} \sum_{\{a,b\} \subset E^{(i)}(v)} \lambda^{d_{G_2}(a,b)} + \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} \sum_{(a,b) \in E^{(i)}(v) \times E^{(j)}(v)} \lambda^{d_{G_1}(u_i, u_j) + 2e(v)} \\ &= \sum_{i=1}^{k_1} PH_0(v, G_2) + \sum_{i=1}^{k_1} \sum_{\substack{j=1 \\ j \neq i}}^{k_1} |E(v)|^2 \lambda^{d_{G_1}(u_i, u_j) + 2e(v)} \end{aligned}$$

$$\text{where } PH_0(v, G_2) = \sum_{\{a,b\} \subset E(v)} \lambda^{d_{G_2}(a,b)}$$

$$PH(G_1\{G_2\}) = k_1 PH_0(v, G_2) + |E(v)|^2 PH(G_1) \lambda^{2e(v)}.$$

□

Acknowledgments

The first author wants to acknowledge the support of the ministry of science and higher education of Federal Democratic Republic of Ethiopia and Woldia University.

REFERENCES

- [1] W. Imrich and S. Klavzar, *Product graphs: structure and recognition*, With a foreword by Peter Winkler. Wiley-Interscience Series in Discrete Mathematics and Optimization. Wiley-Interscience, New York, 2000.
- [2] F. Harary, *Graph Theory*, 2nd printing, (Addison-Wesley, Reading, MA, 1971).
- [3] R. Frucht and F. Harary, On the Corona of Two Graphs, *Aequationes Math.*, **4** (1970) 322–325.
- [4] F. Buckley and F. Harary, *Distance in graphs*, Addison-Wesley Publishing Company, Advanced Book Program, Redwood City, CA, 1990.
- [5] H. Hosoya, On some counting polynomials in chemistry. *Discrete Appl. Math.*, **19** (1988) 239–257.
- [6] K. P. Narayankar, S. B. Lokesh, S. S. Shirkol and H. S. Ramane, *Terminal Hosoya polynomial of thorn graphs*, *Scientia Magna*.
- [7] I. Gutman, B. Furtula and M. Petrović, Terminal Wiener index, *J. Math. Chem.*, **46** (2009) 522–531.
- [8] Keerthi G. Mirajkar and B. Pooja, On the Hosoya polynomial and Wiener index of jump graph, *Jordan J. Math. Stat.*, **13** (2020) 37–59.
- [9] G. Jayalalitha, M. Raji and S. Senthil, Hosoya polynomial and wiener index of molecular graph of naphthalene based on domination, *International Journal Of Scientific Research And Review*, **8** (2019) 126–129.
- [10] K. P. Narayankar, S. Lokesh, V. Mathad and I. Gutman, Hosoya polynomial of Hanoi graphs, *Kragujevac J. Math.*, **36** (2012) 51–57.
- [11] D. Shubhalakshimi, *Distance parametrs in graphs and its applications*, Mangalore University, Mangalore, India, 2017.
- [12] K. P. Narayankar and S. B. Lokesh, Peripheral wiener index of a graph. *Commun. Comb. Optim.*, **2** (2017) 43–56.
- [13] H. Hua, On the peripheral Wiener index of graphs, *Discrete Appl. Math.*, **258** (2019) 135–142.
- [14] Y-H Chen, H. Wang and X-D Zhang, Peripheral wiener index of trees and related questions, *Discrete Appl. Math.*, **251** (2018) 135–145.
- [15] A. Kahsay and K. P. Narayankar, Peripheral wiener index of graph operations, *Bull. Int. Math. Virtual Inst.*, **9** (2019) 591–597.
- [16] K. P. Narayankar, A. Kahsay and S. Klavzar, On peripheral wiener index: line graphs, zagreb index, and cut method, *MATCH Commun. Math. Comput. Chem.*, **83** (2020) 129–141.
- [17] K. P. Narayankar and A. Ali, Peripheral Hosoya polynomial of thorn graphs, *Indian J. Discrete Math.*, **6** (2020) 1–13.
- [18] K. P. Narayankar, S. B. Lokesh, D. Shubhalakshimi and H. S. Ramane, Peripheral path index polynomial, *Indian J. Discrete Math.*, **1** (2015) 45–57.
- [19] A. J. Schwenk, *Computing the characteristic polynomial of a graph*, Graphs and combinatorics (Proc. Capital Conf., George Washington) Univ., D. C. Washington, Lecture Notes in Math., **406**, Springer, Berlin, 1973 153–172.
- [20] Y. Yeh and I. Gutman, On the sum of all distances in composite graphs, *Discrete Math.*, **135** (1994) 359–365.
- [21] D. Stevanović, Hosoya polynomial of composite graphs, *Discrete Math.*, **235** (2001) 237–244.

Anteneh Alemu Ali

Department of Mathematics, Mangalore University, Mangalore-574199, India

Email: antenehalemu@gmail.com

Kishori P. Narayankar

Department of Mathematics, Mangalore University, Mangalore-574199, India

Email: kishori_pn@yahoo.co.in